
Integralrechnung (uneigentliche Integrale) Lösungen Übungen

Aufgabe 6.1

(a) lim
a→∞

∫ a

1

1

x4
dx = lim

a→∞

[
− 1

3x3

]a
1

= lim
a→∞

(
− 1

3a3
+

1

3

)
=

1

3

(b) lim
a→∞

∫ a

1

1

x1.1
dx = lim

a→∞

∫ a

1

x−1.1dx = lim
a→∞

[
−10x−0.1

]a
1

= lim
a→∞

(
− 10

a0.1
+

10

10.1

)
= lim

a→∞

(
10− 10

a0.1

)
= 10

(c) lim
a→∞

∫ a

3

4 + t

t3
dt = lim

a→∞

∫ a

3

(
4

t3
+

1

t2

)
dt

= lim
a→∞

[
−2

t2
− 1

t

]a
3

= lim
a→∞

[(
− 2

a2
− 1

a

)
−
(
−2

9
− 1

3

)]
= lim

a→∞

[
5

9
− 2

a2
− 1

a

]
=

5

9

Aufgabe 6.2

(a) lim
a→0

∫ 2

a

2

x2
dx = lim

a→0

[
−2

x

]2
a

= lim
a→0

(
−1 +

2

a

)
existiert nicht

(b) lim
a→0

∫ 4

a

2√
t
dt = lim

a→0

[
4
√
t
]4
a
= lim

a→0

(
8− 4

√
t
)
= 8

(c) lim
a→0

∫ 4

a

u− 3
2du =

[
−2u− 1

2

]4
a
= lim

a→0

(
−1 +

2√
a

)
existiert nicht

(d) lim
a→0

∫ 8

a

u− 2
3du = lim

a→0

[
3u

1
3

]8
a
= lim

a→0

[
6− 3a

1
3

]
= 6

1



Aufgabe 6.3

(a) lim
a→∞

∫ a

0

e−xdx = lim
a→∞

[
−e−x

]a
0
= lim

a→∞
(−e−a + e0)

= lim
a→∞

(1− e−a) = lim
a→∞

(
1− e−a

)
= 1

(b) lim
a→−∞

∫ 0

a

e−tdt = lim
a→−∞

[
−e−t

]0
a
= lim

a→−∞

(
− 1 + e−a

)
existiert nicht

(c) lim
a→∞

∫ a

0

ze−zdz = lim
a→∞

[
e−z(−z − 1)

]a
0

lim
a→∞

[
e−a(−a− 1)− e0(0− 1)

]
= 1

(d) lim
a→∞

∫ a

0

y2e−ydy = lim
a→∞

[
e−y

(
− y2 − 2y − 1

)]a
0

= lim
a→∞

[
e−a(−a2 − 2a− 1)− (−1)

]
= 2

Aufgabe 6.4

(a) lim
a→−∞

∫ −2

a

1

(y + 1)3
dy = lim

a→−∞

[
−1

2
· (y + 1)−2

]−2

a

= −1

2
lim

a→−∞

[
1

(−2 + 1)2
+

1

(a+ 1)2

]
= −1

2

(b) lim
a→−1

∫ 3

a

1

z + 1
dz = lim

a→−1
[ln(z + 1)]3a

= lim
a→−1

[ln 4− ln(a+ 1)]

existiert nicht

(c) lim
a→∞

2

∫ a

−a

1

z2 + 1
dz = 2 lim

a→∞
[arctan(z)]a−a

= 2 lim
a→∞

[
arctan(a)− arctan(−a)

]
= 2

(π
2
+

π

2

)
= 2π

Aufgabe 6.5

(a) lim
a→∞

π

∫ a

1

(
1

x3

)2

dx = π lim
a→∞

∫ a

1

1

x6
dx

= π lim
a→∞

[
−1

5x5

]a
1

= π lim
a→∞

(
1

5
− 1

5a5

)
=

π

5

2



(b) lim
a→∞

π

∫ a

1

(√
x

x2

)2

dx = π lim
a→∞

∫ a

1

1

x3
dx

= π lim
a→∞

[
−1

2x2

]a
1

= π lim
a→∞

(
1

2
− 1

2a2

)
=

π

2

3


